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Direction :

questions below.

The hybrid car initiative is part of Roche’s overall effort to reduce
its environmental footprint. By using more fuel efficient vehicles,
Roche is reducing its emissions of greenhouse gases and saving a
limited resource - gasoline. Roche started to incorporate hybrids into
its 1400 vehicle US pharmaceutical sales fleet in 2004. Encouraged by
positive feedback from drivers, the program was increased to 500
cars in 2007 and it is planned to continuously add more. Chugai was
running 150 hybrid cars at the end of 2007. It is also considering a
plan to raise the percentage of hybrid cars to 50% by 2010. As
technology continues to advance and more types of fuel-efficient,
low-emissions vehicles become available, Roche will work to

incorporate these vehicles into our fleet as a means of reducing the

environmental impact of our operations.

1. The best title for this article would be “................... .
1) What is Chugai’s Plan?
2) What is the Most Efficient Vehicle?
3) What is the Hybrid Car Initiative?
4) What is Roche’s Plan?

. u i un “emissions” means ................... .
2. The underlined noun “ ” means

1) releases 2) causes

3) possibilities 4) chances
3. The pronoun “It” refers to .................. .

1) vehicle 2) resource

3) Roche 4) Chugai

4. By 2010, Chugai is planning to .................... .
1) run 150 hybrid cars
2) run 50% of the hybrid cars
3) increase the hybrid cars to 50%
4) reduce the hybrid cars to 50%

5. As a result of technological advances and availability of more types of

fuel-efficient, low emissions vehicles, Roche will work to ................... .

1) run 150 hybrid cars

2) use 500 hybrid cars in 2007

3) receive positive feedback from drivers
4) incorporate hybrid cars

environmental impact of their operations

Read the following passage, then answer the

into human fleet to reduce the
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The underlined verb “advance” means .................. .
1) improve 2) progress

3) reduce 4) preserve

The passage does NOT mention that .................... .

1) Roche is reducing its emissions of greenhouse gases

2) Roche is using more fuel efficient vehicles

3) Roche is studying about its environmental footprint
)

4) Roche is saving gasoline
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hybrid (adj.) =

initiative (n.) =
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overall (adj.) = i’mmau, m‘wm, vl

footprint (n.) = iaavﬁw sosouifiaely

gasoline (n.) =

mmmamm

incorporate (v.) = iwmmw,waﬁm%ﬁm, B, TIWTIW

pharmaceutical (adj.) =

Nenfuen, ndenssy

fleet (n.) = amwmuuﬁqwmmﬁﬂwmmmﬁmﬁu

raise (v.) = meu wﬂwmw
means (n.) = 3%
1. wa8 3) What is the Hybrid Car Initiative?
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1) What is Chugai's Plan? = Wi14289 Chugai foncls
2) What is the Most Efficient Vehicle? = aﬂmﬂuamwmuz
ﬁm@ﬂ’sxﬁwﬁmwmnﬁqw
4) What is Roche’s Plan? = L1284 Roche faayls

. W@a8 1) releases
releases = Mytanlany
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2) causes = §1i16]
3) possibilities = anansiulule
4) chances = Tomar

. @ag 3)

. @ae 4)

. ag 2)

. @@y 3)

. @a8 4) Chugai

e To ol “Chugai” Foih ey
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1) vehicle = ENUNINUE
2) resource = NIWENNT

increase the hybrid cars to 50%
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@imauag‘hﬁiﬂm It is also considering a plan to raise
a percentage of hybrid cars to 50% by 2010.
) run 150 hybrid cars = mmmawﬁl@lﬁm 150 A
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2) mn 50% of the hybrid cars = muqumaueﬂmﬁmﬁhmu 50
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Mapba¥l
4) reduce the hybrid cars to 50% = a@%ﬁnmmmmﬂﬂu’%@
aAe 50 Wasidud

incorporate hybrid cars into human fleet to reduce the
environmental impact of their operations
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1) run 150 hybrid cars = mmmawﬁl@lﬁm 150 A

2) use 500 hybrid cars in 2007 = ¥sneug lensa 500 @l
@.¢1. 2007

3) receive positive feedback from drivers = ”Lé?ma@]au%m%q
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progress
progress = M
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1) improve = U5u1/§9

3) reduce = aa

4) preserve = &%

Roche is studying about its environmental footprint
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1) Roche is reducing its emissions of greenhouse gases =
Roche fiavaamatanaunsizaunszangfiaene

2) Roche is using more fuel efficient vehicles = Roche
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4) Roche is saving gasoline = Roche ﬁ?ﬁdﬂiwﬂ'@ﬁﬂﬁu
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